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ÍÛæ̃ Û¶ÛÛ : ¼ÛµÛÛ ›÷ ¸ÛóÊ¶ÛÛé¶ÛÛ •Ûä̈ Û ÍÛ¾ÛÛ¶Û ™öé. 
 

1. µÛ×µÛÛé ïõÁõ¶ÛÛÁõ ÈýÛÜî©Û¶Ûé ïõýÛÛ-ïõýÛÛ ›Ûé”Û¾ÛÛé¶ÛÛé ÍÛÛ¾Û¶ÛÛé ïõÁõÈÛÛé ¸Û¦éø ™öé ? ›Ûé”Û¾ÛÛé¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× ÈÛÍ©ÛäÅÛ“Ûà 
ÍÛ×½ÛÛÈÛ¶ÛÛ …¶Ûé ÈýÛÜî©ÛÅÛ“Ûà ÍÛ×½ÛÛÈÛ¶ÛÛ¶ÛÛ ”ýÛÛÅÛÛé ÍÛ¾Û›ÛÈÛÛé. 

…¬ÛÈÛÛ 

 ¼Ûé ¾Ûæ¦øàøÁõÛéïõÛ¨Û ¸ÛóÛé›÷éî¤ø …×•Ûé¶Ûà ¾ÛÛÜÐü©Ûà …Û¸ÛéÅÛà ™öé. …¸ÛéÜ“Û©Û Ýïõ¾Û©Û …¶Ûé ¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û¶ÛÛé 
Š¸ÛýÛÛé•Û ïõÁõà …é ¶Û‘õà ïõÁõÛé ïéõ ïõýÛÛé ¸ÛóÛé›÷éî¤ø ÍÈÛàïõÛÁõÈÛÛ ýÛÛé•ýÛ ™öé ?  

¸ÛóÛé›÷éî¤ø A  ¸ÛóÛé›÷éî¤ø B 

ÁõÛéïõ¦ø ¸ÛóÈÛÛÐü X1 ÍÛ×½ÛÛÈÛ¶ÛÛ P1  ÁõÛéïõ¦ø ¸ÛóÈÛÛÐü X2 ÍÛ×½ÛÛÈÛ¶ÛÛ P2 

20 0.1  10 0.10 

30 0.2  25 0.25 

40 0.4  40 0.30 

50 0.2  55 0.25 

60 0.1  70 0.10 

 

2. ”Û˜ÛÙ-ÅÛÛ½Û ÜÈÛÊÅÛéÌÛ¨Û …é¤øÅÛé ÉÛä× ? ”Û˜ÛÙ-ÅÛÛ½Û ÜÈÛÊÅÛéÌÛ¨Û ÜÈÛÉÛé ÜÈÛÍ©Ûè©Û ¶ÛÛêµÛ ÅÛ”ÛÛé. 

…¬ÛÈÛÛ 

 Í¬ÛÛ¶ÛàýÛïõÁõ¨Û¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ ¸ÛÜÁõ¼ÛÇÛé þùÉÛÛÙÈÛà, Š²Ûé•ÛÛé¶ÛÛ Í¬ÛÛ¶ÛàýÛïõÁõ¨Û …×•Ûé¶ÛÛé ÍÛÛ›÷Ù¶¤ø ¹ÅÛÛéÁé¶ÍÛ¶ÛÛé 
ÜÍÛ±ùÛ×©Û ÍÛ¾Û›ÛÈÛÛé. 

 

3. ÍÛ¾Û©Ûä¤ø Ý¼Ûþäù¶ÛÛé ”ýÛÛÅÛ …ÛïèõÜ©ÛÍÛÐü ÍÛ¾Û›ÛÈÛÛé. ÍÛ¾Û©Ûä¤ø ÜÈÛÊÅÛéÌÛ¨Û ³ùÛÁõÛ Š©¸ÛÛþù¶Û¶Ûä× …ÛýÛÛé›÷¶Û ïéõÈÛà Áõà©Ûé 
¬Ûˆ ÉÛïéõ ©Ûé ÍÛ¾Û›ÛÈÛÛé. 

…¬ÛÈÛÛ 

 …Û¼ÛïõÛÁõà ›÷ïõÛ©Û …é¤øÅÛé ÉÛä× ? ©Ûé¶Ûà ÍÛ×̃ ÛÛÅÛïõàýÛ Ü¶Û¨ÛÙýÛïõÁõ¨Û ¸ÛÁõ¶Ûà …ÍÛÁõÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 
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4. (a) Áõ¾Û©Û¶ÛÛ ÜÍÛ±ùÛ×©Û¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× ÍÛÐüïõÛÁõà …¶Ûé Ü¼Û¶ÛÍÛÐüïõÛÁõà Áõ¾Û©Û¶ÛÛ ”ýÛÛÅÛ¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛõÛé. 

 (b) ¶Ûà˜Ûé¶ÛÛ ïõÛéÌ¤øïõ¾ÛÛ× ¼Ûé ¸Ûé§øà…Ûé ¾ÛÛ¤éø ÈÛÇ©ÛÁõ ËÛéÜ¨Ûïõõ …Û¸ÛéÅÛä× ™öé. ¶ÛéÉÛ ÍÛ¾Û©ÛäÅÛÛ ÉÛÛéµÛÛé. 

 ¸Ûé§øà B 

›ÛÐéüÁõÛ©Û ïõÁõÈÛà ›ÛÐéüÁõÛ©Û ¶Û ïõÁõÈÛà 

¸Ûé§øà A 

›ÛÐéüÁõÛ©Û ïõÁõÈÛà (5, 4) (6, 2) 

›ÛÐéüÁõÛ©Û ¶Û ïõÁõÈÛà (3, 6) (7, 2) 

…¬ÛÈÛÛ 

 (a) ÍÛäÁéõ”Û …ÛýÛÛé›÷¶Û¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛà, ©Ûé¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× Ðéü©ÛäÅÛ“Ûà ÜÈÛµÛéýÛ …¶Ûé ¸ÛóÜ©Û¼Û×µÛïõÛé¶ÛÛ ”ýÛÛÅÛÛé 
ÍÛ¾Û›ÛÈÛÛé. 

 (b) ÍÛäÁéõ”Û …ÛýÛÛé›÷¶Û¶Ûà Š¸ÛýÛÛéÜ•Û©ÛÛ ˜Û˜ÛÛë. 

 

5. ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé ¾ÛÛ¤éø ÍÛÛ˜ÛÛé ›÷ÈÛÛ¼Û ¸ÛÍÛ×þù ïõÁõà ©Û¾ÛÛÁàõ Š«ÛÁõÈÛÐüà¾ÛÛ× ©Ûé¶ÛÛé ¶Û×¼ÛÁõ þùÉÛÛÙÈÛÛé : 

 (1) þùÁéõïõ ÈýÛæÐüÁõ˜Û¶ÛÛ …¶Ûé ©Ûé¶Ûà ÍÛÛ¬Ûé¶Ûà ïäõþùÁõ©Ûà ¸ÛÜÁõÜÍ¬ÛÜ©Û¶ÛÛ ›ä÷þùÛ-›ä÷þùÛ ÍÛ×ýÛÛé›÷¶Û¶ÛÛ ¸ÛÜÁõ¨ÛÛ¾ÛÛé 
ÉÛé¶ÛÛ ³ùÛÁõÛ þùÉÛÛÙÈÛÛýÛ ™öé ? 

  (a) ËÛéÜ¨Ûïõ   (b) Ü¶ÛÊ˜ÛÛýÛïõ 

  (c) ïõÛéÌ¤øïõ   (d) ÈÛÇ©ÛÁõ ËÛéÜ¨Ûïõ 

 (2) µÛ×µÛÛïõàõýÛ Ü¶Û¨ÛÙýÛ …×•Ûé¶ÛÛ ¸ÛÜÁõ¨ÛÛ¾Û …×•Ûé ïõÛé̂  ¾ÛÛÜÐü©Ûà ¸ÛóÛ¸©Û ¶ÛÛ ÐüÛéýÛ ©ÛéÈÛà ¸ÛÜÁõÜÍ¬ÛÜ©Û¶Ûé ÉÛä× 
ïõÐéüÈÛÛýÛ ™öé ? 

  (a) ˜ÛÛé‘õÍÛ©ÛÛ   (b) ›Ûé”Û¾Û 

  (c) …˜ÛÛé‘õÍÛ©ÛÛ   (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ 

 (3) ›Ûé ¼Ûé ¾Ûæ¦øàÁõÛéïõÛ¨Û ¸ÛóÛé›÷éî¤ø¾ÛÛ×¬Ûà ¸ÛóÛ¸©Û …¸ÛéÜ“Û©Û ¶ÛºõÛ¶Ûà Ýïõ¾Û©Û …éïõÍÛÁõ”Ûà ÐüÛéýÛ, ©ÛÛé 
¸ÛóÛé›÷éî¤ø¶Ûà ¸ÛÍÛ×þù•Ûà ¾ÛÛ¤éø ÉÛé¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõà ÉÛïõÛýÛ ? 

  (a) ¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û  (b) ÜÈÛ˜ÛÁõ¨Û 

  (c) ¾ÛµýÛïõ   (d) ¼ÛÐäüÅÛïõ 

 (4) ›Ûé ¼Ûé ¾Ûæ¦øàÁõÛéïõÛ¨Û ¸ÛóÛé›÷éî¤ø¾ÛÛ×¬Ûà ¸ÛóÛ¸©Û …¸ÛéÜ“Û©Û ¶ÛºõÛé ›ä÷þùÛé-›ä÷þùÛé ÐüÛéýÛ, ©ÛÛé ¸ÛóÛé›÷éî¤ø¶Ûà 
¸ÛÍÛ×þù•Ûà ¾ÛÛ¤éø ÉÛé¶ÛÛé Š¸ÛýÛÛé•Û ¬Ûˆ ÉÛïéõ ? 

  (a) ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ   (b) ÜÈÛ˜ÛÅÛÛ×ïõ 

  (c) ¾ÛµýÛïõ   (d) ÍÛ×½ÛÛÈÛ¶ÛÛ 
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 (5) ›ÛÐéüÁõ“ÛéªÛ ³ùÛÁõÛ ¸ÛæÁõà ¸ÛÛ¦øÈÛÛ¾ÛÛ× …ÛÈÛ©Ûà ÈÛÍ©Ûä…Ûé …¶Ûé ÍÛéÈÛÛ…Ûé¶Ûà …éïõ ”ÛÛÜÍÛýÛ©Û ïõˆ ™öé ? 

  (a) ©Ûé¾Û¶Ûà Ýïõ¾Û©Û ÉÛæ¶ýÛ ÐüÛéýÛ ™öé …¬ÛÈÛÛ ÍÛÁéõÁõÛÉÛ ”Û˜ÛÙ ïõÁõ©ÛÛ …Ûé™öà ÐüÛéýÛ ™öé. 

  (b) ©Ûé¾Û¶Ûà Ýïõ¾Û©Û ÉÛæ¶ýÛ ÐüÛéýÛ ™öé …¬ÛÈÛÛ ÍÛÁéõÁõÛÉÛ ”Û˜ÛÙ ïõÁõ©ÛÛ ÈÛµÛä ÐüÛéýÛ ™öé. 

  (c) ©Ûé¾Û¶Ûà Ýïõ¾Û©Û Þô¨Û ÐüÛéýÛ ™öé. 

  (d) Š¸ÛÁõ¶ÛÛ …éïõ¸Û¨Û ¶ÛÜÐü. 

 (6) ¶ýÛæ¶Û©Û¾Û ¸ÛÜÁõÈÛÐü¶Û ”Û˜ÛÙ Í¬ÛÛ¶ÛàýÛïõÁõ¨Û ¾ÛéÇÈÛÈÛÛ¶ÛÛ Ðéü©Ûä¬Ûà ïõýÛÛ …¬ÛÙÉÛÛÍªÛà…é Í¬ÛÛ¶ÛàýÛïõÁõ¨Û 
ÜªÛïõÛé̈ Û¶ÛÛé Š¸ÛýÛÛé•Û ïõýÛÛë ™öé ? 

  (a) ïéõˆ¶ÍÛ   (b) ¾Ûà¦ø 

  (c) ÈÛé¼ÛÁõ   (d) ÍÛÛ›÷Ù¶¤ø ¹ÅÛÛéÁéõ¶ÍÛ 

 (7) ïõýÛÛ …¬ÛÙÉÛÛÍªÛà…é Í¬ÛÛ¶ÛàýÛïõÁõ¨Û ¾ÛÛ¤éø ÈýÛÛÜ¸©Û ¸Û±ùÜ©Û ÜÈÛÊÅÛéÌÛ¨Û …Û¸ýÛä ™öé ? 

  (a) ¾ÛÛîÍÛÙ   (b) …é¦ø¾Û ÜÍ¾Û¬Û 

  (c) ÍÛÛ›÷Ù¶¤ø ¹ÅÛÛéÁéõ¶ÍÛ  (d) ÁõÛéÍ¤øÛéÈÛ 

 (8) ÍÛà¾ÛÛ×©Û ÍÛÛ¾ÛÛœ÷ïõ ”Û˜ÛÙ = ÍÛà¾ÛÛ×©Û ”ÛÛ¶Û•Ûà ”Û˜ÛÙ + _____ 

  (a) ÍÛà¾ÛÛ×©Û ¼ÛÛÔ ”Û˜ÛÙ  (b) ÍÛà¾ÛÛ×©Û ÍÛÛµÛ¶Û ”Û˜ÛÙ 

  (c) ïäõÅÛ ÍÛÁéõÁõÛÉÛ ”Û˜ÛÙ  (d) ïäõÅÛ …ÜÍ¬ÛÁõ ”Û˜ÛÙ 

 (9) ¸Ûé§øà¶Ûä× ”Û˜ÛÙ ______ ¬ÛÈÛÛ¬Ûà ÍÛ¾Û©Ûä¤ø Ý¼Ûþäù ›÷¾Û¨Ûà ©ÛÁõºõ ”ÛÍÛé ™öé. 

  (a) ¾ÛÛ× ÈÛµÛÛÁõÛé   (b) ÜÍ¬ÛÁõ 

  (c) ÉÛæ¶ýÛ   (d) ¾ÛÛ× –Û¤øÛ¦øÛé 

 (10) ïäõÅÛ ºõÛÇÛé = ïäõÅÛ …ÛÈÛïõ – _______ 

  (a) ïäõÅÛ ÜÍ¬ÛÁõ ”Û˜ÛÙ  (b) ïäõÅÛ …ÜÍ¬ÛÁõ ”Û˜ÛÙ 

  (c) ÍÛÁéõÁõÛÉÛ ÜÍ¬ÛÁõ ”Û˜ÛÙ  (d) ÍÛÁéõÁõÛÉÛ …ÜÍ¬ÛÁõ ”Û˜ÛÙ 

 (11) ïõýÛÛ ¸ÛóïõÛÁõ¶ÛÛé ÈÛéÁõÛé Í¬ÛÛÜ¶Ûïõ ÍÛÁõïõÛÁõÛé¶Ûé ¸Ûó¾ÛÛ¨Û¾ÛÛ× ÈÛµÛä …ÛÈÛïõ ¾ÛéÇÈÛÈÛÛ¾ÛÛ× ¾ÛþùþùÄõ¸Û ¬ÛÛýÛ ™öé ? 

  (a) …ÛÈÛï ÈÛéÁõÛé   (b) ”Û˜ÛÙ ÈÛéÁõÛé 

  (c) ÍÛ×̧ ÛÜ«Û ÈÛéÁõÛé   (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ 

 (12) ïõýÛÛé ÈÛéÁõÛé ÍÛÛµÛ¶ÛÛé¶Ûà ïõÛýÛÙ“Û¾Û ÈÛÐêü˜Û¨Ûà¶Ûé ¸ÛóÛé©ÍÛÛÐü¶Û …Û¸Ûé ™öé ? 

  (a) ›÷ïõÛ©Û ÈÛéÁõÛé   (b) ”Û˜ÛÙ ÈÛéÁõÛé 

  (c) ÍÛ×̧ ÛÜ«Û ÈÛéÁõÛé   (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ 
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 (13) ¾ÛÐü«Û¾Û-¶ýÛæ¶Û©Û¾Û Ýïõ¾Û©Û …é¤øÅÛé ÈÛÇ©ÛÁõ ËÛéÜ¨Ûïõ¾ÛÛ× 

  (a) …ÍÛ¾Û©ÛäÅÛÛ Ý¼Ûþäù  

  (b) ÐüÛÁõ¾ÛÛ× ¶ýÛæ¶Û©Û¾Û …¶Ûé Í©Û×½Û¾ÛÛ× ¾ÛÐü«Û¾Û Ýïõ¾Û©Û 

  (c) ÐüÛÁõ¾ÛÛ× ¾ÛÐü«Û¾Û …¶Ûé Í©Û×½Û¾ÛÛ× ¶ýÛæ¶Û«Û¾Û Ýïõ¾Û©Û 

  (d) ÐüÛÁõ¾ÛÛ× ¾ÛÐü«Û¾Û …¶Ûé Í©Û×½Û¾ÛÛ× ¾ÛÐü«Û¾Û Ýïõ¾Û©Û 

 (14) ÍÛäÁéõ”Û …ÛýÛÛé›÷¶Û¶Ûà ÍÛ¾ÛÍýÛÛ¶ÛÛ ŠïéõÅÛ ¾ÛÛ¤éø ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõˆ ¸Û±ùÜ©Û¶ÛÛé Š¸ÛýÛÛé•Û ¬ÛÛýÛ ™öé ? 

  (a) …ÛÅÛé”Û ¸Û±ùÜ©Û  (b) Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ ¸Û±ùÜ©Û 

  (c) ÜÍÛ¾Û¸ÅÛé“Û ¸Û±ùÜ©Û  (d) (a) …¶Ûé (c) ¼Û·Ûé 

_________ 
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Instruction  : All Questions carry equal marks.  

 

1. What type of risks are to be faced by a businessman ? In the context of risk in business 

explain the concepts of objective and subjective probability. 

OR 

 Information about two investment projects is given below. Using expected value and 

Standard deviation decide as to which project should be accepted ?    

Project-A  Project-B  

Cash Flow X1 Probability P1  Cash Flow X2 Probability P2 

20 0.1  10 0.10 

30 0.2  25 0.25 

40 0.4  40 0.30 

50 0.2  55 0.25 

60 0.1  70 0.10 

 

2. What is cost benefit analysis ? Write a detailed note on cost benefit analysis.  

     OR 

 State the factors affecting location and explain the location theory of industry given by 

Sargent Florence. 

 

3. Explain the concept of break-even analysis with the help of diagram. Explain, how 

production planning can be done with break-even analysis. 

     OR 

 What is excise tax ? Discuss its effects on business decision. 
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4. (a) In the context of game theory explain concept of cooperative and non-cooperative 

game. 

 (b) Following is the pay-off matrix for two firms. Find out Nash equilibrium. 

 Firm B 

Advertise Don’t Advertise 

Firm A 

Advertise (5, 4) (6, 2) 

Don’t Advertise (3, 6) (7, 2) 

OR 

 (a) Explain the concept of linear programming and also explain the concepts of 

constraints and objective function. 

 (b) Discuss the usefulness of linear programming. 

 

5. Select the correct answer for following questions and write its number in your answer 

book. 

 (1) The outcomes associated with combinations of each strategy and state of nature 

is shown by  

  (a) Matrix (b) Determinants 

  (c) Table (d) Pay-off matrix 

 (2) A situation where no information is available about the outcome of the business 

decision is known as  

  (a) Certainty (b) Risk 

  (c) Uncertainty (d) All of the above 

 (3) If two investment projects have same expected profit, what can be used to, 

decide the selection of a project ? 

  (a) Standard deviation (b) Variance 

  (c) Mean (d) Mode 

 (4) If two investment project have different expected profit, what can be used to 

decide the selection of the project ?   

  (a) Coefficient of correlation (b) Coefficient of variation 

  (c) Mean (d) Probability 
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 (5) One of the characteristics of the goods and services provided by public sector is 

that 

  (a) Their price is zero or less than average cost 

  (b) Their price is zero or greater than average cost 

  (c) Their price is negative 

  (d) None of the above 

 (6) In order to get the least transport cost location, which economist has given 

location triangle ? 

  (a) Keynes (b) Mead 

  (c) Weber (d) Sargent Florance 

 (7) Which economist has given inductive analysis for the problem of choice of 

location ?  

  (a) Marx (b) Adam Smith 

  (c) Sergent Florance (d) Rostow 

 (8) Marginal Social Cost = Marginal Private Cost + _____. 

  (a) Marginal External Cost (b) Marginal Factor Cost 

  (c) Total Average Cost (d) Total Variable Cost 

 (9) Break-even point shifts to right due to _____ cost of the firm. 

  (a) Increase in (b) Constant 

  (c) Zero (d) Decrease in 

 (10) Total contribution margin = TR – _____. 

  (a) TFC (b) TVC 

  (c) AFC (d) AVC 

 (11) Which type of tax helps local government to get relatively more income ? 

  (a) Income tax (b) Expenditure tax 

  (c) Wealth tax (d) All of the above 

 (12) Which tax encourages efficient allocation of resources ? 

  (a) Excise tax (b) Expenditure tax 

  (c) Wealth tax (d) All of the above 
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 (13) Maximum - Minimum value means _____ in the pay-off matrix. 

  (a) Disequilibrium point 

  (b) Minimum value in the row and maximum value in the column 

  (c) Maximum value in the row and minimum value in the column 

  (d) Maximum value in the row and maximum value in the column 

 (14) Which of the following methods is used for solution of a linear programming 

problem ? 

  (a) Graphical method (b) Regression method 

  (c) Simplex method (d) Both (a) and (c)  

_____________ 

  


